EXoqe O

1. Find the value of the series. Clearly show all steps for full credit. (10 pts.)
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2. Solve the first order linear differential equation
Yy —y=2zlnz

and find the particular solution y = y(z) satisfying y = 2 when z = 1. (10 pts.)
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3. Determine whether the series converges or diverges. Give clear justification for your answer
for full credit. (8 pts. each)
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4. Short answer section. Find the limit of the sequence. Put the value of the limit in the box
if it exists, otherwise write DNE in the box. Your work may be graded for partial credit if

your answer is incorrect, otherwise just show reasonable work for full credit with a correct

answer. (5 pts. each)
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5. Determine whether the each sequence converges or diverges. Clearly give full justification
for your answer. (10 pts. each)
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8. True and False section. Circle TRUE if the statement is always true in all cases. Otherwise,
circle false. (2 pts. each)

(a) The Lu.b. of the sequence a, =1—2,n>1,is 1. FALSE
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(b) The sequence a, = |sin(n)| is monotone. & Qzo TRUE @

(c) The sequence a, = 24} converges. FALSE
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(d) The series > .-, ﬁ%l_—_}-—l converges. @\
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(e) The series > oo, e™" con‘verg;es.é @ FALSE
~ e ‘
ge A)C onuvacres Sa ‘07 Mtee ~L et /

(f) The sequence a, = lj\/%lﬂ diverges. TRUE
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(g) If lim, 00 G, = 0, then > a, converges. TRUE EALSE )
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(h) Ifap1/a, =1foraln>1, FALSE

then the series Y a,, diverges.
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